
1. Front door
2.Top & bottom cover
3. Hinge installation
4. Side panel
5.Mounting panel
6. Mounting profile

Main structure

1PCS Front door 5MM toughed glass door
2PCS Top & bottom cover, SPCC Cold rolled steel 
t0.8, Powder coated
2PCS Hinge installation, SPCC cold rolled steel 
t1.2, Nickel coated
2PCS Side panel, SPCC Cold rolled steel t0.8, 
Powder coatedPowder coated
1PCS Mounting panel, SPCC cold rolled steel 
t1.2, Powder coated
2PCS Mounting profile, SPCC Cold rolled steel 
t1.5, Powder coated
1PCS Small round lock, With 2 keys
10PCS M6 Square nut, Steel, Color Zinc
10PCS M6 B-head screw, Steel, Color Zinc10PCS M6 B-head screw, Steel, Color Zinc
2PCS M10 Swell screw, Steel, Color Zinc
1PCS Allen wrench, Steel, Black

Capacity 6U
Color: black RAL9004
Size: 280 Width* 310 Depth* 330 Height (mm)
Package size: 365*340*90 (mm)
Weight: 5.3KG

6U SOHO CABINET FLAT PACK

C
A
B
-W

FP
SO

H
O
-6
U


